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UNIT 1. WHAT IS TRANSPORTATION?

1.1 City and city transport

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1 layout PO3MILLIEHHS

2 commerce TOPT1BJIS

3 enlarge 30UIbLIYyBaTH

4  dnft nepeMIlIeHHs, 3CYB
5 suburb OKpaiHa, IPUTrOpPO/I
6 urban MICBKUH

7  subway METpPO

8  congestion 3aTop, CKyM4YCHHS

I1. Learn the following word combinations:

present layout — cydacHe po3MillieHHs

city growth — 3poctanHst MicTa

to enlarge the movement of passengers — 301JIbIIIyBaTH PyX Maca>kupiB
a steady drift of population — mocriitHe epeMilieHHsT HaCEICHHS
high density centre — meHTp 3 BUCOKOIO IIUIBHICTIO

low density suburb — okpaiHa 3 HU3KOO HIIITBHICTIO

a mass-produced motor car — aBToMOOLIb MaCOBOI'O BUPOOHUIITBA
lack of cheap transport — HecTaua AeIeBOro TPaHCIOPTY
introduction of urban railways — BBeIeHHSI MICbKHUX 3aJ1i3HUIIb
residential areas — JKUTJIOBHI paiioH

to own a car — MaTu MallluHy

to lead to road congestion — IPUBOAUTH 10 JOPOKHIX 3aTOPIB
peak hours — roguHu K

service industry — iHIyCcTpisi 00CIyrOBYBaHHS

to be acceptable — OyTu gocTynHuM

moving pavement — TpOTyap, IO PyXa€ThCs

improved transport — MOMIMNIIEHUI TPaHCTIOPT

to face a problem — 3imToBXyBaTHCS 3 TPOOIEMOIO

to solve a problem — BupinryBaTtu npooiemy

III. Translate the following international words:
problem, service, transport, population, commerce, system, mass,
situation, peak.
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IV. Give the initial form of the following words:
briefly, cheaply, congestion, creative, reduction, acceptable, planning.

CITY AND CITY TRANSPORT

Before describing new systems of transport, it is necessary to look back to
see how cities got their present layout.

The first cause of city growth is the growth of population. The cities
developed because of the need for people to gather for natural protection,
commerce and education. The population growth has greatly enlarged the
movement of passengers in big cities.

There has been, on the other hand, a steady' drift of population from the
high density centre to the lower density suburbs.

Walking was the major transport both in and out of cities until the end of
the XVIII century. The cost of a horse was three times higher that of a mass-
produced motor car today.

The lack of cheap transport led to the development of very high density
building within the city centre. The situation was changed by the introduction of
horse buses and urban railways in the middle of the XIX century, followed by
horse trams and electric trams. This allowed a city to grow even more.

The introduction of the motor car and motor bus alongside with the
subway allowed the residential areas to broaden still more around cities. This
growth leads to longer journeys to work, school, shopping even without
population growth.

To own a car has become not only pleasant, but in many cases necessary.
Car ownership, however, leads to road congestion, especially at peak hours,

Transport is a service industry, and must be coordinated with city
planning. It is necessary to develop transport systems which are cheaper to
install, to operate, and be more acceptable than the existing ones.

New forms of urban transport may involve low speed moving pavements
never-stop railways and buses on reserved tracks.

Improved transport will not, of course, solve all the problems facing city
today, but they will make city life more pleasant.

TEXT — BASED ASSIGNMENTS

I. Choose Ukrainian equivalents:

1. layout a) IJ1aH 0) cucrema B) PO3MILIEHHS
2. protection a) 3aXUCT 0) oot B) OTOPOJIKEHHSI
3. urban a) CUIbCbKUI 0) ripchKHii B) MICbKUI

4. growth a) pict 0) MPOIOBKEHHS B) YIOBUILHEHHS
5. to develop a) BIICTOIOBaTH ©0) pO3BUBATH  B) MOCHIIIATH
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6. movement a) pyx 0) 3aTpuMKa B) 3yIIMHKA

7. to travel a) MaHapyBaTu 0) pyxaTucs B) ixatu

8. cause a) ooctaBuHa  0) mpUYMHA B) CJI1JICTBO

9. lack a) HasIBHICTD 0) MPUCYTHICTh B) BIJICYTHICTh

10. to enlarge  a) 301IbIIyBaTU O) 3MEHITYBAaTU B) PO3MOJLIATH

II. Translate into English:

IIIIBHICTh, OKpaiHa, METPO, MacCaXup, MEPEMIIICHHS, TMOCTINHUN,
HACEJICHHS, 3aXUCT, TOPIiBIs, ACIICBUN TPAHCHOPT, 3aTI3HUIIA, PO3IIUPIOBATH,
BOJIO/IAp, IOPOKHIHN 3aTOP, TMOTIMIITYBATH.

I11. Match words from columns A and B to make word combinations:

A B
1. steady a) congestion
2. city b) owner
3. cheap c) hours
4. mass-produced d) drift
5. urban e) growth
6. high f) transport
7. car g) density
8. residential h) motor car
9. peak 1) railways
10.road ]) area

IV. Insert appropriate prepositions where necessary:

1. This growth leads... longer journeys... work, school, and shopping
centers. 2. It is necessary... develop transport systems which are cheaper...
install and... operate. 3. The increase and improvement ... transport is believed
... be the main reason ... this drift. 4. Car ownership leads ... road congestion.
5. Minicars will be used ... city streets.

V. Complete the following sentences:

1. There has been a steady drift of population from....2. The cost of a
horse was three times higher.... 3. The lack of cheap transport led to the
development.... 4. The introduction of the motor car allowed.... 5. This growth
leads to.... 6. Car ownership leads to.... 7. Transport is a service industry, and
must be coordinated.... 8. New forms of urban transport may involve....

VI. Form sentences using the following words:

1. The, cause, growth, of, first, is, the, city, of, population, growth.

2. Situation, was, the, by, changed, the, horse, introduction, of, buses.
3. A, to grow, city, this, allowed, more, even.

«AHITNACHKA MOBa»



4. Car, leads, to, ownership, congestion, road.
5. To develop, is, necessary, it, systems, transport.

VII. Answer the following questions:

1. What was the initial cause of city growth?

2. What did people gather for into cities?

3. What was the main type of transport up to the XVIII century?

4. What led to the development of very high density building within the
city center?

5. What did introduction of the motor car and motor bus allow?

6. What does car ownership lead to?

7. What do the new forms of urban transport involve?

VIII. Translate into English:

1. Ilepma npuuymHa 3pocTaHHS MicTa — LE pIicT HaceileHHs. 2. Pict
HaceJeHHs 3HAuyHO 30UIbIIMB pyx mnacaxupiB. 3. Hecraua npemieBoro
TPaHCHOPTY MPHUBENA 10 PO3BUTKY HIUIBHOTO OYMIBHHUIITBA Yy IIEHTP1 MicTa. 4.
Tpancnopt — 1e iHaycTpiss 00CTyrOBYBaHHS, sSIKa MOBUHHA OYTH Y3TOJKEHA 3
IIaHyBaHHSAM MicTa. 5. HeoOxiTHO po3BUBATH TPAHCIIOPTHY CUCTEMY.

IX. Write down the main idea of the text and key words.

X. Make up a plan of the text, prepare a short report on the text.

1.2 Transportation

PRE — TEXT EXERCISES

I. Mind the pronunciation of the following words:

1. roar PEBITH, ITyMITH

2. livestock MOTOJIIB’ ST XyJ1001

3. rumble IPUMOTITH, TYPKOTATH
4. jolt TPSICTUCS

5. rough HEPIBHUM

6. route MapUIPYT, OIJISAX

7. tire IMHA

8. choke 3aIUXaTUCS

9. buoy Oy, bakeH

10 neighbourhood cyciau
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II. Word combinations to remember:

to use in daily life — BUkopucToByBaTH B MOBCAKIACHHOMY >KUTTI

to cut travel time — ckopouyBaTH yac nepecyBaHHs

to take smb. a month to travel — 3alimatu micsib 111 IEpeCcyBaHHs

jet airliner — peakTUBHUM MACAKUPCHKUM JTITaK

a two-week vacation — TBOTHKHEBA BIAIYCTKa

wooden wheels - nepeB siH1 KoJieca

springless wagon — Baron 0e3 npy>kuH

paved road — morieHa gqopora

air-filled tires — mMHU, HAITOBHEHI1 MOBITPSIM

to choke in clouds of smoke and dust — 3aguxaTtucs B XxMapax aumy 1
Uy

reclining seats — kpiciia 3 BIIKUTHOIO CIIUHKOO

to serve tasty meals — mojaBaTu cMauHy Ky

to depend on transportation — 3ajie:kaTH BiJl IEPEBE3CHB

traffic lights — cBiT0dop

to operate safely — mpairoBatu 6e3me4Ho

to affect our live — BmmuBaTu Ha KUTTSA

scene of a crime — MicIie 3710YHUHY

II1. State the part of speech of the following words:
everything, highway, jolt, possible, transportation, devise, which, obtain,
without, safely.

IV. Translate words with the same root:
1. to develop — developed — development
2. safe — safety — safely

3. to produce — product — production

TRANSPORTATION

History of transportation takes us where we want to go, and brings
us nearly everything we eat, wear, and use in daily life. Day and night,
swift airliners speed passengers through the sky. Long trains roar across the
countryside carrying passengers, mail, and such products as food, livestock,
and coal. Automobiles, buses, and huge trucks rumble along the streets and
highways. Ships steam across oceans and along lakes and rivers. Pipelines
carry petroleum and natural gas across thousands of miles. Developments in
transportation have cut travel time greatly in the past 200 years. In 1800, it
often took a businessman a month to travel by sailing ship from London to
New York City. Today, he can fly this distance by jet airliner in only a few
hours. The airplane has made New York City closer in time to Sydney,
Australia, than it was to Montreal, Canada, only a hundred years ago.
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Americans and Canadians can easily travel to Europe and lack on a two-week
vacation. Modern transportation also makes it possible to travel in comfort. The
pioneers jolted westward over rough trails in springless wagons with wooden
wheels. Today, tourists ride on paved roads over the same routes in
automobiles and buses with wheels that have soft, air-filled tires.
Passengers on the first trains sat on hard wooden seats and often choked in
clouds of smoke and dust. Food could be obtained only at wayside stations.
Many of today's trains have soft, reclining seats. Air conditioning may keep the
air clean and cool, and dining cars serve tasty meals.

Transportation would not be possible without communication. It
depends on communication just as communication depends on
transportation. Automobiles and trucks could not travel on crowd,
streets and highways without street signs and traffic lights. Automatic
block signals and other means of communication enable milroads to
operate safely. Lighthouses, lightships, bell buoys, and radio compasses
provide information for ships at sea. Airplanes could not land and take
off safely without radio, radar, and other electronic communication devices.

How Transportation Affects Our Life

Without transportation our modern society could not exist. We would
have no metals, no coal, and no oil. Nor would we have any products made
from these materials. Besides, we would have to spend most of our time
raising food — and the food would be limited to the kinds that could grow in
the climate and soil of our own neighbourhoods.

Transportation also affects our lives in other ways. Transportation can
speed a doctor to the side of a sick person, even if the patient lives on an
isolated farm. It can take police to the scene of a crime within moments of
being notified. Transportation enables teams of athletes to compete in national
and international sports contents.

TEXT — BASED ASSIGNMENTS

I. Form nouns of the verbs by means of the following suffixes: - tion, -
ion, - ment, -ation: to produce, to transport, to develop, to communicate, to
operate, to inform, to isolate, to compete.

II. Give English equivalents:

NacaXUPChbKUM JIITaK, MUaTH, HEPIBHI PEUKH, KOHAUIIOHYBAaHHS MOBITPA,
OararojitoJiHa BYJIMIIS, JOPOXKHIA 3HAK, MasK, EJICKTOPOHHUM TMPHUCTPIN,
ICHYyBaTH, BUPOUIYBATH 1Ky, OyTH 0OMEKEHUM, XBOpPa JIFOANHA, MICIE 3JI0YUHY,
IOBIJIOMJISITH.
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II1. Match Ukrainian and English equivalents:

A
1. daily
2. truck
3. food
4. development
5. pipeline
6. to travel
7. westward
8. seat
9. highway
10. soft

IV. Match words from columns A and B to make word combinations:

A
1. natural
2. daily
3. travel
4. jet
5. springless
6. air-filled
7. dining
8. traffic
9. street
10. electronic

V. Find out synonyms:

A
1. notify

2. swift

3. huge

4. rumble
5. vacation
6. road

7. tasty

8. device

9
|

. modern
0. affect

«AHITNACHKA MOBa»

B
a) CUAIHHS
b) nompopoxyBaTu
C) MOBCSKACHHMI
d) moce
e) 1ka
f) M sxuit
g) BaHTaXXIBKa

h) y 3axigHOMY HanmpsIMKy

1) PO3BUTOK
j) TpyOompoBin

B
a) tire
b) sign
c) car
d) life
e) lights
f) time
g) gas
h) device
1) airliner
j) wagon

B
a) holiday
b) current
¢) inform
d) highway
e) influence
f) machine
g) massive
h) quick
1) delicious
j) rattle
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VI. Complete the following sentences:

1. Day and night swift airliners speed.... 2. Pipelines carry.... 3. Modern
transportation also makes.... 4. Today tourists ride.... 5. Air conditioning may
keep.... 6. Automobiles and trucks could not travel.... 7. Airplanes could not
land.... 8. Without transportation .... 9. Besides we would have to.... 10.
Transportation also affects....

VII. Answer the following questions:

1. What speed passengers through the sky? 2. How have developments in
transportation cut travel time? 3. What does modern transportation make it
possible? 4. What does transportation depend on? 5. What enable railroads to
operate safely? 6. What would we have to spend most of our time? 7. How does
transportation affect our live?

VIII. Translate into English:

1 CydacHi mnepeBEe3eHHS YMOXIIMBIIOIOTh MOJO0POXK y KoMdopTi. 2.
[Macakupu mepux MOTATiB CUAIN HA TBEPIAUX JAEPEB STHUX CHUIAIHHAX Ta 4acTO
3aquxanucs B xMmapax aumy 1 muiay. 3. IlepeBesenHs He MoxiauBi 0e3
koMyHikaiii. 4. CyyacHe CyCHiJIbCTBO HE MOXE ICHYyBaTH O€3 mepeBe3eHb. 5.
[lepeBe3eHHS TaKOXK BILTUBAIOTH HA HAIIE KUTTS 1 IHIIMMH HUIIXaMU.

IX. Discuss how transportation affects our lives.

X. Prepare a short report on the text.
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UNIT 2. KINDS OF TRANSPORTATION

2.1. Land transportation

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1.  harbour opT

2. rural CUIBCHKHM

3. dugout KaHOE

4.  canoe KaHOE

5. haul NEPEBO3UTHU

6.  freight BaHTaKHI [1€PEBE3CHHS
7. lumber CTPOMOBHIA JTiC

8. vehicle TPaHCIOPTHHI 3aCi0

9.  customer CIIOKUBAY

10. scooter MOTOPOJIEP

II. Word combinations to remember:

weather conditions — morogHi yMoBH

to determine the type of transportation — BU3HauaTu TUI NIEPEBE3EHb
dog sleds — cobGaui 3anpsixkku

rural region — CiIbCBKHI paiioH

jungle area - JKyHIJI

means of travel — 3aci6 nepecyBaHHs

remaining freight — BaHTaXH1 IepeBE3EHHS, 10 3ATUIIAIUCS

to be best suited — HaliOLIbIIE MIAXOAUTH

to play an important role — rpaTi BaXJIuBY pOJIb

to haul freight cheaply — nepeBo3uTH BaHTax 32 HU3bKOIO I1HOIO

to drill oil wells — cBepanuTu HadTOBI MIMapu

to lay pipelines — nmpokianatu TpyOOnpoBia

a main means of transporting people — roysioBHuii 3aci6 nepeBe3eHHs JoIen

II1. Translate the following international words:
transportation, type, region, form, automobile, airplane, barge, service,
material, role, product.

IV. While reading and translating the text keep in mind meanings of
the following words

truck — 1. BaHTa)X1BKa 2. BI30K 3. KaTOK, KOJECO.

freight — 1. mepeBe3enHs BaHTaxy 2. ¢hpaxT cyaHa 3. TOHHAX

haul — 1. TarHyTH 2. TIEpPEBO3UTH, TPAHCIIOPTYBATH 3. BOJIOKTH
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LAND TRANSPORTATION

There are three main kinds of transportation: (1) land, (2) water,
and (3) air. Each has advantages and disadvantages. For example, trucks
and trains can operate in storms that may ground airplanes or keep
ships in harbours. Weather and geographical conditions may also
determine the type of transportation used in a region. In snowbound arctic
regions, dog sleds remain one of the most dependable means of land
transportation. Sure-footed donkeys and llamas are still an important form of
land transportation on the narrow mountain trails of rural regions in Latin
America. In some jungle areas of South-eastern Asia, dugout canoes provide
the swiftest means of travel.

On Land, the chief forms of transportation are (1) automobiles, (2)
railroads, (3) trucks, and (4) pipelines.

Automobiles provide the most important means of passenger travel
almost in all countries. They account for more than four fifths of all the miles
travelled by people. The remaining passenger travel is about equally divided
among airplanes, trains, and buses. The automobile also is important in land
transportation especially in Western Europe and some, other parts of the world.

Railroads haul about half of the freight transported in the United
States. Trucks carry about a fifth of this freight, and pipelines transport a little
less than a fifth. Boats, barges, and airplanes transport the remaining freight.
Railroads have equal or greater importance in the transportation of freight in
Canada, Europe, and other areas. In addition to hauling freight, most railroads
provide passenger service between cities and towns. Commuter trains
transport thousands of persons daily between their homes in suburban areas
and large cities.

Railroads move every type of material, but are best suited to great
quantities of heavy freight. For this reason, railroads play an important role
in transporting coal, iron ore, grain, lumber, and other heavy products.
Trains can haul freight cheaply because single locomotive can pull as many
as 200 freight cars.

Trucks cost relatively more than railroads for transportation, because
they require more power and more men to move the same fount of freight.
But trucks can travel wherever there are roads. Special trucks used in
logging, mining, drilling oil wells, and laying pipelines can operate even in
areas that lack roads.

The big trucks we see on the highways carry from 15 to 20 tons of
freight. Any company or factory with this much freight to ship can load a
truck at its door. The truck can then be driven directly to the customer's
door.
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Other Methods of Land Transportation include buses, streetcars,
electric elevated trains, subway trains, motorcycles, motor scooters, bicycles.
Buses serve as a main means of transporting people in cities in many parts
of the world, and also within larger cities and towns. Streetcars, elevated
trains, and subway trains usually found only in larger cities, people in some
countries use motorcycles, motor scooters, and bicycles as widely as
Americans and Canadians use automobiles. The high cost of petroleum fuels
outside the United States and Canada prevents most persons from driving
vehicles that use as much gasoline as automobiles.
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TEXT — BASED ASSIGNMENTS

I. Choose English equivalents:

15

1. mepeBara a) advantage b) disadvantage c) disengage
2. yMOBa a) action b) condition c) evolution
3. mepeBe3eHHS a) transportation b) addition c¢) production
4. 3abe3neuyBatd  a) account b) determine c) provide

5. BOXJIMBUHT a) important b) essential c) chief

6. BaHTaX a) trail b) freight c) train

7. BUMaraTtu a) acquire b) equal c) require

8. IepeBO3UTHU a) haul b) travel c) move

9. 3amo0biratu a) prevent b) keep c) divide

10. 3anumarucs a) drive b) carry C) remain

I1. Translate into Ukrainian:

operate, harbour, arctic region, snowbound, swiftest means of travel,
pipeline, account, passenger travel, freight, importance, commuter train, suit,
iron ore, mining.

II1. Match words from columns A and B to make word combinations:

A B
1. to have a) scooter
2. geographical b) freight
3. dog c) wells
4. rural d) condition
5. commuter e) area
6. heavy f) sleds
7. oil g) advantages
8. motor h) transportation
9. jungle 1) region
10.land j) train
IV. Find out synonyms:
A B
1. operate a) buyer
2. determine b) kind
3. chief c) guard
4. freight d) cargo
5. haul ¢) area
6. type f) carry
7. move g) decide
8. customer h) transport
9. prevent 1) work
10.region j) main
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V. Decide whether the statements are true or not. Correct the wrong
ones:

1. There are two main kinds of transportation.

2. Automobiles provide the most important means of passenger travel
almost in all countries.

3. Railroads haul all the freight transported in the United States.

4. Commuter trains transport thousands of persons daily between their
homes in suburban areas and large cities.

5. Automobiles account for more than two fifths of all the miles travelled
by people.

VI. Complete the following sentences:

1. Weather and geographical conditions....2. In some jungle areas of
South-eastern Asia.... 3. Most railroads provide .... 4. Railroads are best suited
to. .... 5. Trains can haul freight cheaply because.... 6. Special trucks used
in.... 7. Other methods of land transportation include.... 8. The high cost of
petroleum fuels prevents....9. The big trucks we see on the highways carry....
10. In snowbound arctic regions dog sleds remain...

VII. Answer the following questions:

1. What are three main kinds of transportation?

2. What may determine the type of transportation?

3. What are the chief forms of transportation on land?
4. What do automobiles provide?

5. What are railroads best suited for?

6. What are special trucks used for?

7. What do other methods of transportation include?

VIII. Translate into English:

1. IcHye Tpu Buau niepeBe3eHb. 2. ABTOMOOUII - 11€ HAWBXKIIUBIIINN 3aC10
NacaXXMpPChbKUX MEpeBe3eHb B ycix kpainax. 3. Iloroma Ta reorpadiuni ymoBu
BU3HAYAIOTh THI MEPEBE3€Hb y PerioHi.4. 3ali3HUIN BiAITPalOTh BAKIWBY POJIb
y TIEPEBE3CHHI BYTULJIS, 3a113HOT Py Ta 1HIIMX TOBApiB. 5. Benuki BaHTaXiBKU
nepeBo3ATh Bif 15 10 20 TOH BaHTaXYy.

IX. Speak about:

- advantages and disadvantages of different kinds of transportation
- the chief forms of transportation on land

- other methods of land transportation

X. Make up a plan of the text; prepare a short report on the text.
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2.2 Water and air transportation

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1. inland BHYTPIIIHIN

2. deposit POJIOBHIIIE

3. freighter BAHTaXX, MOPCBHKE CYTHO
4. 1iron YOPHUN MeTall

5. efficient e(eKTUBHUI

6. artery aprepis

7. chrome XpoM

8. manganese MapraHellb

9. barrier nepenoHa

10 helicopter BEPTOJIIT

II. Word combinations to remember:

to provide cheap water transportation — 3a0e3medyBaTd JICIICBI
NIEpEeBE3EHHS BOJIOIO

important means of water transportation — BaxJIMBUM 3aci0 TepeBE3CHb
BOJIOIO

to haul large quantities of heavy goods — mepeBo3uTH BENUKY KITBKICTh
BaKKOTO BAaHTAXY

neighbouring countries — cyciH1 KpaiHu

manufactured goods — mpoMuCIIOBI TOBapu

to flash around the world — muartucs no cBity

to follow the shortest route between two points — mpsiMyBatu
HAWKOPOTYIIUM [UISIXOM MK JBOMa TOYKaMU

water barriers — BOJIHI IEpEIIOHU

to carry passengers and mail — mepeBo3UTH MacaXupiB Ta MOIITY

high cost of air transportation — BUcoka BapTiCTh IEpPEBE3E€Hb MOBITPSIM

downtown areas — 1ieHTpaJibHa YaCTUHA MiCTa

suburban areas — mpuMICbKi pailoHH

all kinds of rescue work — yci Buau pstTyBagbHUX poOIT

to pluck injured climbers from mountains — micraBaTh IOpaHEHHX
QJIBITIHICTIB 3 Tip

police department — mosminelcbke B IIICHHS

to patrol waterfront areas — OXOpOHSATH TEPUTOPIi OIS TOPTY

crowded highways - nepeBaHTa)kH1 1OPOTH
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II1. Translate the following international words:

ocean, system, deposit, million, transportation, canal, artery, product,
banana, passenger, region, police, chrome, airplane.

IV. State the part of speech of the following words:
transportation, huge, provides, million, for, along, barge, they, other,
include, chrome, across, important, most, all, enable, some.

WATER AND AIR TRANSPORTATION

On Water, transportation follows chief routes: (1) on lakes (2) on
rivers, and (3) across oceans.

Lake Transportation. The United States and Canada are the only
countries with the advantage of a system of inland waterways like the Great
Lakes. The lakes form the heart of the St. Lawrence Seaway. Huge deposits of
iron ore lie to the west of these lakes, and great quantities of coal are mined to
the south and east. Large specially designed freighters provide cheap water
transportation to bring millions of tons of coal and iron.

River Transportation provides cheap, efficient water transportation for
many countries. For this reason, much heavy industry has been located along
the rivers.

River barges also serve as an important means of water transportation in
different countries. They haul large quantities of heavy goods on the rivers and
canals of Belgium, The Netherlands, France, and West Germany. In China, tiny
sampans and other river boats provide transportation on the larger rivers.

Oceans serve as the main arteries of transportation between continents.
Ocean ships carry about two thirds of the goods between the United States and
other countries. Most of the rest of this trade is with the neighbouring countries
of Canada and Mexico. It moves by trains, trucks, and lake steamers. The
largest quantities of goods shipped across oceans include petroleum, coal, grain,
and iron ore. But ocean ships transport nearly every product produced or raised
by man. Great refrigerated ships bring bananas from Central America to the
United States. Industrial nations imports mahogany, chrome, and manganese by
ship from various regions and send automobiles, machinery, and other
manufactured good to all parts of the world.

In the Air. Jet airliners enable travellers to eat breakfast in New York
City and have dinner in London. Jets speed passengers and mail over the 3,250
air miles separating the two cities in only some hours. In the 1500's, it took one
of Ferdinand Magellan's sailing ships, the Victoria, three years to make the first
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trip around the world. A jet airplane can flash around the world in about 36
hours.

Airplanes usually follow the shortest route between two points, because
they can fly over mountains and water barriers. They carry chiefly passengers
and mail. Not much freight is shipped by air, because of the high costs of air
transportation.

Helicopters are also important in air transportation. In some large cities,
helicopters ferry passengers and mail between airports and downtown areas.
They also carry mail to suburban areas. In addition, helicopters are used in all
kinds of rescue work, such as plucking injured climbers from mountains. Some
police departments use helicopters to patrol waterfront areas and crowded
highways.

TEXT — BASED ASSIGNMENTS

I. Translate into Ukrainian:

chief, advantage, inland waterways, deposit, mine, efficient, barge, haul,
heavy goods, trade, neighbouring, steamer, grain, mahogany, manganese, mail,
route, freight, helicopter, rescue work.

I1. Give English equivalents:

niBJCHb, 3a0e3leuyBaTH, Ba)kKKa MPOMUCIIOBICTh, BAXKJIWBUM, TOPTIBIIA,
TOBapW, BYTUUISA, IMIOPTYBaTH, PO3IUISTH, BapTICTh, MPUMICHKHM paiioOH,
BEJIMYE3HUH, JICIIEBUI, 3€pPHO, BUPOIIYBATH, ITOJIOPOK.

II1. Match Ukrainian and English equivalents:

A B
1. route a) IMIIOPTYBaTU
2. advantage b) Toprisiis
3. deposit C) MapuIpyT
4. barge d) ycraTkyBaHHs
5. provide €) mepeBara
6. trade f) BaaTaXK
7. import g) Gapxa
8. machinery h) nenrpanpHa yacTuHa micTta
9. freight 1) 3a0e3neuyBaTu
10.downtown j) mokJan

IV. Find out synonyms of the given words among those in brackets:

1. enable 2. carry. 3. cheap 4. inland 5. route 6. important 7. machinery

(a) equipment b) bring ¢) domestic d) significant e) way f) inexpensive g)
empower)
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V. Find out antonyms of the given words among those in brackets:
1. heavy 2. growth 3.inland 4. large 5. high 6. advantage
(a) low b) foreign c) light d) decline e) small f) disadvantage)

VI. Make the word combinations using the words in both columns:

A B

1. cheap a) area
2. inland b) highways
3. heavy c) goods
4. huge d) work

5. neighbouring e) department
6. suburban f) transportation
7. rescue g) countries
8. manufactured h) waterway
9. police 1) industry
10.crowded 1) deposits

VII. Complete the following sentences:

1. The United States and Canada are the only countries .... 2. Large
specially designed freighters provide .... 3. River barges serve as .... 4. Ocean
ships carry about .... 5. The largest quantities of goods shipped across oceans
include .... 6. Industrial nations imports .... 7. Jet airliners enable travelers ....
8. Not much freight .... 9. Helicopters are.... 10. Helicopters are used ....

VIII. Answer the following questions:

1. What routes does transportation follow on water? 2. What provide
cheap water transportation? 3. Why have heavy industries been located along
the rivers? 4. What do barges haul? 5. What are the oceans? 6. What do ocean
ships transport? 7. What are helicopters?

IX. Fill in the table summarizing the information of the text:

Kinds of transportation Main characteristic
features

1.

X. Make up a plan of the text; prepare a short report on the text.
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UNIT 3. PROBLEMS OF TRANSPORTATION

3.1. Problems of transportation

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1. detour 00x111, 00 1311

2. severe HIIIapKUH, TOTYKHUN

3.  endanger HapaxaTl Ha HEOE3IeKy
4.  brittle HEMIIIHUH, TaMKUH

5. termite TEPMIT

6. desert Oe3MoAHUI

7.  violent CWJIbHHM, BEIUKUH

8.  wharf MPUCTaHb, MPUYAII

9. pier namoba

10. iceberg aiicoepr

I1. Word combinations to remember:

to overcome problems — nepemaraTtu npooiaemMu

to depend on weather — 3anexartu BiJ oroau

to fill sails — HamoBHIOBaTH BiTpHIIA

weather conditions — noroaHi ymoBu

desert region — 0e3JIH0JTHUM pETiOH

daytime temperature — jeHHa TemMneparypa

to operate swiftly and safely — npaitoBaTu mBuko ta 6€31e4yHo
a good system of paved roads — rapna cucrema rpyHTOBUX JOPIT
to be conveniently located — 3py4Ho po3minyBaTucs

to cause accident — CIpUYMHSATH aBapii

to provide services — 3abe3nedyBaTH 00CITyTrOBYBaHHSI

II1. Translate the following international words:
service, ocean, electronic, temperature, region, problem, telegraph,
termite, pilot, radar, radio.

IV. Translate words with the same root:
to consult — consultant — consultation

to operate — operation — operational

to develop — developer — development
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PROBLEMS OF TRANSPORTATION

Many problems must be overcome in the task of transporting people
and materials from one place to another. Transportation services must be able
to operate day and night, the year around, in all kinds of climate and
weather. They must be able to operate over mountains and rivers, and
through snow and storms.

Climate and Weather. In the days of sailing ships transportation
by water depended almost entirely on the weather. Ships needed favorable
winds to fill their sails. Sailors often made long detours to sail through
waters where they could depend on the wind. Storms often sank or disabled
sailing vessels. Even today weather conditions are a problem to water
transportation. Ocean liners usually try to sail around severe storms rather
than through them. In the North Atlantic, icebergs endanger ships in
certain months. Fog always threatens vessels, even though many ships
have the electronic "eyes" of radar.

On land, snow and ice often block railroads and highways. In extreme
northerly regions, it is difficult to build railroads and highways, because
the ground stays permanently frozen a short distance below the surface.
During the summer, the surface of such ground thaws and becomes a muddy
bog. In winter, the extremely low temperatures in these areas make steel rails
so brittle that they break easily.

In rainy tropical regions, dense jungles must be cleared before railways
and roads can be built. In these regions, railroads must use steel ties and
telegraph poles. Wooden poles and ties rot in tropical climates. They may
also be destroyed by termites. In desert regions, such as the Sahara, the Gobi,
and the south-western United States, extremely high daytime temperatures
cause transportation equipment to overheat and break down. Drifting sand
blows into machinery, and may block roads and railroad tracks.

But weather is the greatest threat to air transportation. Small aircraft
caught in violent storms must either fight their way through or find a safe
landing place. All pilots consult weather reports maps before taking off,
so they can avoid bad weather conditions. Since the 1940's, radio, radar,
and other electronic devices have made flying safer.

Aids to Transportation
Modern transportation can operate swiftly and safely because of the
many aids to transportation that have been developed. Automobiles and
trucks would be useless without a good system of paved roads. Bridges and
tunnels help speed land vehicles across rivers, mountains, and other barriers.
Ships require safe harbors equipped with wharves and piers in order to load
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and unload their cargoes. Airplanes could not speed passengers throughout the
world without airports conveniently located near cities.

Air, railroad, bus, and ship transportation are remarkably safe today.
Railroads have automatic signals and instruments that send sound waves to
check steel rails for flaws that might cause accidents. The engineer may have
a radiotelephone in his locomotive cab.

Buses have been improved by such devices as air-suspension systems in
place of springs. All water traffic, whether on oceans, rivers, or lakes, has been
made safer by radio, radar, and such devices as gyrocompasses. Radio puts
ships in touch with shore and with other vessels. Radar enables them to
"see" through fog, storms, and darkness. Airplanes patrol major ship routes
to assist in rescues in case of accidents. Ships of the International Ice Patrol
warn of the presence of icebergs. Radio and radar provide much the same
services for aircraft. Accurate weather information permits planes lo fly
over or around most storms.

TEXT — BASED ASSIGNMENTS

I. Choose English equivalents:

1. 3anexaru a) to define b) to depend c) to develop
2. mepemaratd  a) to overcome b) to operate c) to sail

3. 3aTi3HUIA a) highway b) railroad c¢) ground

4. mepeBe3eHHs a) transportation b) temperature c) telegraph
5. obmagnanua  a) vessel b) condition ) equipment
6. pyiinyBatn  a) to provide b) to destroy c) to brittle
7. aBiaris a) aircraft b) pilot c) report

8. mopT a) vehicle b) wharf c) harbour

9. 0e3neunuii  a) sound b) safe c) swift

10. BanTaxutu a) to load b) to speed c) to assist

II. Translate into Ukrainian:

to depend, favorable, vessel, to brittle, tropical region, short distance, to
destroy, desert region, equipment, to overheat, drifting sand, violent storm, to
take off, electronic device, aid, paved roads, cargo, safe.

II1. Give

a) synonyms of the following words: to overcome, vessel, block,
threat, to avoid, safe, aid.

b) antonyms of the following words: low, to avoid, bad, safe, modern.
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IV. Match words from columns A and B to make word combinations:

A B
1. to overcome a) temperature
2. weather b) sand
3. ocean c) pole
4. muddy d) place
5. low e) liners
6. dense f) climate
7. telegraph g) bog
8. tropical h) conditions
9. drifting 1) jungle
10.landing ) problems

V. Complete the following sentences:

1. Transportation services must be able .... 2. In the days of sailing .... 3.
In extreme northerly regions, it is difficult.... 4. In rainy tropical regions .... 5.
Drifting sand blows .... 6. But weather is.... 7. All pilots consult weather
reports .... 8. Modern transportation can operate .... 9. Ships require .... 10.
Railroads have ....

VI. Decide whether the statements are true or not. Correct the wrong
ones:

1. Transportation services must be able to operate day and night, the year
round, in all kinds of climate and weather.

2. In the North Atlantic icebergs help ships.

3. In extreme northerly regions, it is easy to build railroads and highways.

4. In rainy tropical regions dense jungles must be cleared before railways
and roads can be built.

5. Weather 1s not the threat to air transportation.

6. Modern transportation can operate swiftly and safely.

7. Bridges and tunnels help speed land vehicles across rivers, mountains
and other barriers.

8. Airplanes could speed passengers throughout the world without
airports conveniently located near cities.

9. Air, railroad, bus and ship transportation are remarkably safe today.

10. Radio puts ships in touch with shore and with other vessels.

VII. Answer the following questions:

1. What did transportation by water depend on in the days of sailing
ships?

2. Why is weather conditions a problem to water transportation?

3. What do snow and ice often block?
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4. Why is it difficult to build railroads and highways in extreme northerly
regions?
5. Why must railroads use steel ties and telegraph poles in rainy tropical
regions?
6. What is the greatest threat to air transportation?
7. What are aids to transportation?

VIII. Translate into English:

1. HaBiTh ChOTOJHI TOTOJHI YyMOBHU — Ii¢ mpoOjieMa Ui TEepeBE3CHb
BOJIO10. 2. Y paiioHax KpalHbOI MIBHOY1 BaXKKO OyIyBaTH 3aji3HUII Ta JOPOTH.
3. [loroma Takox HaWOUIbINAa 3arpo3a Jjs nepeBe3eHb NoBiTpsM. 4. CydacHi
nepeBe3eHHsT MBUAKI Ta Oe3meuHi. 5. [lepeBezeHHs Bomow ctanmu Oe3medHi
3aBJSIKU Pajaio, pajgapam TOIIO.

IX. Speak about:
- problems of transportation

- aids to transportation

X. Make up a plan of the text; prepare a short report on the text.
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UNIT 4. TRANSPORATION IN DEVELOPED COUNTRIES

4.1. U.S. Transportation

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1. dweller MEINIKAHEIb

2. | obliging MTOCITYKJIUBUU

3. available JOCTYITHUM, TOCSHYKHUM
4. | even NIapHUN

5. | designate BHU3HAYATH, BKa3yBaTU
6. | resume BIJIHOBJIIOBAaTH

7. | apparent OYEBUJHUH, IBHUU

8. | legislation 3aKOHOJIaBCTBO

9. | eliminate JTIKBIAYBaTH, YCyBaTu
10. | identify pO3Ii3HABATH

II. Word combinations to remember:

to make an impact — BIMBaTH

to do marketing — TopryBatu

to bring great changes — mpuBOANTH 10 BETUKHUX 3MIH

to make a real effort — pobutu cipasxHi 3ycumnis

to grant money— BUAUISTH TPOLIII

odd numbers — HenapHi yucna

even numbers — mpaHi yucia

dual highway — nopora 3 1Box cMyT

a separating strip — po3molJibHa CMyTa

opposing lanes — 3ycTpiuHi cMyTH

cloverleaf intersection — mepeTuH y pi3HUX PIBHSAX TUIY «KOHIOIIMHUMN
JUCT»

designated point — npu3HaueHe miclie

to ration gasoline — HOpMyBaTu O€H3UH

to be apparent — OyTH IBHUM

a major effort — Bemuke 3ycus

interstate highway — ¢eaepanpna qopora

to pass legislation — mpuiimMaTi 3aKOH

traffic lights- cBiTimodop

running time — TPUBAIICTh PyXy aBTOMOOLIIS

digit numbers — oJfHO3HAYH1 YKCIIa
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alternate roads — mepeMi>kH1 JOPOTH
to rejoin the main road — mpueAHYBaTHCS 10 TOJIOBHOI JOPOTHU

II1. State the part of speech of the following words:
interstate, speed, when, odd, make, eliminating, with, resume, same,
higher, first, the most.

IV. While reading and translating the text keep in mind meanings of
the following words:

map— 1. Mama, kapta 2. ruad 3. BigoOpaxaru

permit — 1. 103BoMIATH 2. HaABaTH MOKJIUBICTD 3. JIOMyCKATH

state — 1. mepkaBa 2. mtaT 3. cTaH 4. CTpyKTypa, popmMa 5. CTAaHOBUIIIE

U.S TRANSPORATION

An interstate highway system was built.

The automobile made an impact on the country farmer as well as the city
dweller. He could go beyond the neighboring village to a larger town to do his
marketing. Farm mechanization was speeded by developments in automotive
engineering and manufacturing. The automobile brought great changes to
country roads. Early motorists frequently stuck on muddy roads and usually had
to get an obliging farmer to pull the car, out with a team of horses. As more
motorists appeared, there were more demands for all-weather roads.

During the '1920' a several states were making a real effort to hard-
surface their roads. The United States Government also granted money to the
states to build federal highways. A numbering system began to be used on these
highways, and road maps became available at service stations. In general, odd
numbers were given to north-south highways and even numbers were given to
east-west highways. For instance, U.S.I was the major north-south highway
along the Atlantic Coast; from Maine to Florida. U.S.30, the Lincoln Highway,
was the first major transcontinental highway.

As automobiles became more powerful and traffic increased, paved roads
alone were not enough. Dual highways patterned after the German Autobahnen
provided a separating strip between opposing lanes of traffic. Cloverleaf
intersections allowed cars to enter and leave express highways only at
designated points. World War II brought about the reduction in highway travel
as gasoline was rationed and automobile assembly lines turned to the
production of tanks, jeeps, and other military equipment. Few new roads were
built.

In the post-war period the race between the automobile builders and the
road builders resumed. By 1956 it was apparent that a major effort at new
highway construction was needed, that year, Congress passed legislation
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whereby the federal government would pay 90 per cent of the cost of
constructing a new Interstate Highway system. This law provided for the
construction of over 40,000 miles of new highways over a period of about
sixteen years. By eliminating traffic lights and permitting constant high speeds,
these new roads have reduced the running time, between cities.

The Interstate Highways are identified by special sings. The numbers
follow the same system as that of the federal system. Unlike the old system
where the numbers become higher to the west and south, interstate numbers
become higher to the east and north. Three digit numbers are used for alternate
roads and if the first digit is even, it means that the alternate road will rejoin the
main road.

TEXT — BASED ASSIGNMENTS

I. Translate into Ukrainian:

interstate highway, neighbouring village, city dweller, automotive
engineering, to stuck on muddy road, all-weather roads, numbering system,
service station, transcontinental highway, assembly line, military equipment,
race, law, special signs, digit, main road.

II. Give English equivalents:

TOPTyBaTH, 3amlpsr KOHEH, (deaepanbHUI, JOPOXKHS Mara, HapHUKIa,
MOTY>KHUM, PYX, CKOPOUCHHSI, 3aKOHOJIaBCTBO, CBITIO(OP, AO3BOJISTH, BUCOKA
IIBUKICTh, PO3MI3HABATH, OJHO3HAYHUH, MPUETHYBATHCS, OYAIBHUILITBO JOPIT,
TaHK, YCTaTKyBaHHS.

III. Match Ukrainian and English equivalents:

A B
1. impact a) 3HUIIYBaTH
2. to speed b) xomiroBaTH
3. to pull C) YHCIIO
4. demand d) 3abe3neuyBaTu
5. available €) BUTATYBATH
6. pattern f) mocTivinuii
7. to provide g) TOCSHKHUMN
8. constant h) BruuB
9. to eliminate 1) BUMOTra
10.number ) IPUCKOPIOBATH

IV. Find out synonyms of the given words among those in brackets:
1. impact 2. road 3. dweller 4. instance 5. to increase 6. traffic 7.
equipment
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a) transport b) enlarge c¢) influence d) highway e) inhabitant f) example
g) machinery )

V. Make the word combinations using the words in both columns:

A B

1. city a) intersection
2. traffic b) system
3. paved c) lane
4. running d) number
5. cloverleaf €) money
6. designated f) roads

7. opposing g) dweller
8. to grant h) point
9. 0dd 1) time
10.federal j) lights

VI. Complete the following sentences:

1. The automobile made an impact on.... 2. Early motorists stuck on
muddy roads and had to.... 3. A numbering system began to be used .... 4. As
automobiles became more powerful and traffic increased.... 5. Cloverleaf
intersections allowed cars .... 6. In the post-War period.... 7. By 1956 it was
apparent.... 8. By eliminating traffic lights .... 9. The Interstate Highways are
identified.... 10. Three digit numbers are used for....

VII. Answer the following questions:

1. What did automobile bring to country roads? 2. When did a numbering
system begin to be used? 3. What were odd numbers given? 4. What were even
numbers given? 5. What did dual highways provide? 6. What was it apparent by
1956? 7. How are the Interstate Highways identified?

VIII. Find an appropriate word for each blank space using the
following words:

lanes of World war | special signs | money
traffic 11
an obliging | service traffic
farmer station lights

1. Early motorists stuck on muddy roads and usually had to get ... to pull
the car out.
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2. The United States Government also granted ... to the states to build
federal highways.

3. Dual highways provided a separating strip between opposing ....

4 A numbering system began to be used on the highways and road maps
became available at ....

5. ... brought about reduction in highway travel as gasoline was rationed.

6. By eliminating ... and permitting constant high speeds, these new roads
have reduced the running time between cities.

7. The Interstate Highways are identified by ....

IX. Speak about:
- pre-war period in U.S. transportation

- post-war period in U.S. transportation

X. Make up a plan of the text; prepare a short report on the text.

4.2. Transportation in Great Britain

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1.  haulage OyKCUpyBaHHS, TOCTaBKa
2. trunk MaricTpaiib, FOJIOBHA JIHIS
3.  upkeep yTpUMaHHS

4.  exchequer Ka3Ha

5. authority BJIaJIa

6.  borough MICBKUH pailoH

7. network Mepexa

8.  eliminate JKBITyBaTH

9.  bottleneck 3aTop

10. outlet BUXI1/I

II. Word combinations to remember:

coastal shipping — 6eperore cyHOTIaBCTBO

inland waterways— BHYTpIIITHI/A BOJHUMN TUISIX

bulk cargoes — HaCUITHHI BaHTaX

private enterprise — mpuBaTHE M1ITPUEMCTBO

the highest density of road traffic — HaliBuma muIBHICTE JOPOXKHBOTO
PYXy

public highways — aBToMOG171bHA MaricTpaib
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principal roads — maricTpaiabHa 10pora HallloOHAIBLHOTO 3HAYEHHSI
trunk roads — maricTpasibHa opora
the main arteries of national traffic — romoBH1 aprepii HamioHaIBLHOTO
PYyxy
cost of the upkeep — BapTicTh yTpumaHHs
Exchequer funds — ponnu ka3zuu
to eliminate bottlenecks — ycyBatu noposxHi 3aTopu
to give free outlet — naBaTu BuUIbHUMN BUXiJ
main sources of traffic — rojoBH1 mxepena pyxy

II1. Translate the following international words:
passenger, type, proportion, system, private, artery, national, transport,
program.

IV. In each set of words find out the word that does not have a
similar meaning with others:
1. Highway, road, role, motorway, traffic.
. Principal, main, basic, effective, major.
. Obtain, receive, acquire, attain, issue.
. Load, freight, cargo, ship, bulk.
. Important, particular, significant, vital, grave.
. Provide, supply, ensure, service, secure.
. Fundamental, key, functional, cardinal, essential.
. Perform, fulfill, do, restore, complete, work.

01N N A~ W

TRANSPORTATION IN GREAT BRITAIN

Nowadays the dense passenger and freight traffic of Great Britain is
carried mainly by road and rail, although coastal shipping and, to a lesser extent,
inland water ways and pipelines are important in carrying certain types of
freight, particular bulk cargoes. A small but increasing proportion goes by air.

Part of the inland transport system of Great Britain is nationalized;
namely, the railways, passenger transport in the London are a large proportion
of road passenger and some road haulage services, most of the inland
waterways and some of the vessels on them. Road haulage is largely, and
coastal shipping almost entirely, in the hands of private enterprise.

Roads. Britain has the highest density of road traffic in the world. Great
Britain has public highways, trunk roads including motorways, principal roads
and other roads. Trunk roads are the main arteries of national traffic and the
whole cost of their upkeep is met from Exchequer funds. The Minister of
transport is the highway authority for trunk roads in England. The highway
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authority for principal roads is, in general, the council of the county or county
borough in whose area the roads lie.

The motorways form part of a program designed to provide a national
network of modern through routes. At the same time, work done under this
programme is eliminating some of the worst bottlenecks in urban areas and thus
helping to give free outlets from the big cities and from other main sources of
traffic to the trunk routes.

TEXT — BASED ASSIGNMENTS

I. Translate into Ukrainian:

freight traffic, coastal shipping, waterways, pipeline, haulage, vessel,
private, density, trunk roads, principal roads, public highways, cost, upkeep,
authority, design, provide, network, eliminate, bottleneck, free, outlet, source,
route, motorway, county borough.

II. Choose English equivalents:

1. MaricTpanib a) trunk b) truck c) traffic

2. Bnaaa a) author b) authority c) artery

3. 3a0e3nevyBaTu a) to increase b) to provide c) to carry

4. BaHTaX a) highway b) capacity Cc) cargo

5. Mepexa a) network b) nation C) name

6. TKB11yBaTH a) evaluate b) eliminate c) entire

7. BUX1]1 a) upkeep b) outlet Cc) county

8. 3aTop a) density b) proportion  c¢) bottleneck
9. ka3Ha a) exchequer b) exchange c) haulage
10. mpuBaTHU a) program b) private c) principal

II1. Match words from columns A and B to make word combinations:

A B
1. coastal a) road
2. bulk b) borough
3. inland c) bottlenecks
4. passenger d) funds
5. private e) shipping
6. public f) cargo
7. trunk g) transport
8. Exchequer h) waterways
9. county 1) highway
10.to eliminate ) enterprise
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IV. Decide whether the statements are true or not. Correct the wrong
ones:

1. Part of the inland transport system of Great Britain is nationalized.

2. Britain has the smallest density of road traffic in the world.

3. Trunk roads are the main arteries of national traffic and the whole cost
of their upkeep is met from Exchequer funds.

4. Road haulage 1s largely and coastal shipping almost entirely in the
hands of the government.

V. Choose the most appropriate answer to complete the sentence:
1. Nowadays the dense passenger and freight traffic of Great Britain is
carried mainly by:
a) shipping;
b) road and rail;
Cc) air.
2. The main arteries of national traffic are:
a) motorways;
b) principal roads;
c) trunk roads.
3. The highway authority for trunk roads is:
a) Minister of Transport;
b) Exchequer funds;
c) Minister of Finance.
4. The highway authority for principal roads is :
a) Minister of transport;
b) the council of the county;
c) government.

VI. Answer the following questions:

1. What is the dense passenger and freight traffic of Great Britain carried
by?

2. What proportion goes by air?

3. What transport system of Great Britain is nationalized?

4. What kinds of roads does Great Britain have?

5. What are trunk roads?

6. What is the highway authority for principal roads?

7. What program is designed?

VII. Translate into English:

1.Hactuna BHYTPIITHBOT TPaHCIIOPTHOT CUCTEMHU bpuranii
HaIllOHATI30BaHa. 2. bpuTaHis Mae HaWBUIY MIUIBHICTH AOPOXHBOTO PYXY Y
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cBiTi. 3. MaricTpajibHi JOpOTH — T'OJIOBHI apTepii HAI[IOHAIBLHOTO JOPOKHBOTO
pyxy. 4. Lls nporpama JiKBiy€e TOPOKHI 3aTOPU Y MICBKUX paiOHAX.

VIII. Identify types of roads:
Public highways: ............
Trunk roads: ............
Principal roads: ............

IX. Speak about:
- trunk roads;

- principal roads;
- motorways.

X. Make up a plan of the text; prepare a short report on the text.

«AHITNACHKA MOBa»



35
UNIT S. TRAFFIC CONTROL

5.1 Traffic Control

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

1.  cybernetic KiOepHETUYHUI
2. aerodrome JIETOBUIIIE

3. dispatcher aucneTyep

4.  nervous HEPBOBUI

5.  collide 3ITKHYTHUCS

6.  obstacle MeperiKoia

7. luminous CBITIUHN

8. deviation BIIXMJIEHHSA

9. loop neTs

10. measurement BUMIPIOBAHHSI

I1. Word combinations to remember:

to tackle problems — TopkaTtucs npo6iaem

information exchange — 0OMiH iH(DOpMaIIi€IO

potential danger — nmoTenIiiiHa HeOe3MeKa

nervous strain — HEPBOBA HaMpyra

to carry out research — mpoBOANTH AOCTIIKEHHS

to prevent the wvehicle from -colliding — nonepemxatu 3iTKHEHHS
TPaAHCIOPTHOTO 3aCO0y

to adjust steering wheel — perymntoBatu pyibOBe KOJIECO

road accidents — noposxHi aBapii

poor visibility — morana BUIUMICTh

to apply brakes — 3acTocoByBaTu raapma

critical situation — KpuTUYHA CUTYaIlis

II1. Translate words with the same root:
to inform — informer — information
to adjust — adjustment — adjustable
to respect — respectable - respectful

IV. While reading and translating the text keep in mind meanings of
the following words:
idea - 1. imes 2. moHATTA 3. IyMKa, 3a1yM
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solution — 1. po3uun 2. po3urHeHHs 3. pieHHs 4. PiaKi KA
screen — 1. muT, ekpaHd 2. TUH 3. CITKa B KoMax 4. 3aBica 5. CHTO

AUTOMATIC TRAFFIC CONTROL: GUARANTEE OF SAFETY

A large number of cybernetic problems are being tackled in air transport.
The growing intensity of air traffic has called for the automation of its control.
The world's biggest airports handle up more than 1,000 planes a day. The
dangerous situations that often arise as a result tell on an aerodrome's capacity.

Tin automatic air traffic system takes over a large proportion of the work
involved in the information exchange between dispatcher and pilot. At the same
time, it carries out all sorts of calculations and warns the dispatcher of potential
dangers, thus taking a lot of nervous strain and effort out of his work.

Fundamental research is being carried out into the automation of
automobile driving. The "robot driver" system is called upon to do two things:
to keep the vehicle on the road and to prevent it from colliding with the cars
ahead or running into obstacles. The first problem was solved experimentally
by tracing a luminous line on the road and fitting a car with a photocell which
keeps an "eye" on tin line, and, through a set of actuating mechanisms, adjusts
steering wheel in case of the slightest deviation from the present course.

The second problem is more complex, both technically and economically.
Life itself insistently calls for its solution, for, according to international
statistics, road accidents kill 250,000 people a year. Two ideas are considered
the most practicable in this respect — the use of microwave radar which probes
the stretch of the road lying ahead bf the moving car and presents the road
situation on a dashboard screen. In conditions of poor visibility, it can
always take over the steering wheel and brake control. The other idea is to lay
"loops" of current-carrying cable under the road surface. When a car passes
over such a loop, the latter's magnetic characteristic changes, this being a
source of information for the car following immediately behind. The latter's
transducers pick up the signal and transmit continuous measurements of the
distance to the leading car, its speed and the gain rate. In critical situations, the
engine is stopped and the brakes are applied automatically.

TEXT — BASED ASSIGNMENTS

I. Choose English equivalents:

1. Topkatucs a) to tackle b) to take c) to keep
2. HeOe3neyHui a) luminous b) dangerous c) fitting

3. obcsr a) control b) condition C) capacity
4. oOMiH a) change b) exchange C) engine

5. 3anobiraTu a) to prevent b) to provide c) to handle
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6. poroeneMeHT a) radar b) robot c) photocell
7. BIIXUJICHHS a) deviation b) creation c) motivation
8. muTOK ynpapiiHHs a) wheel b) dashboard c) obstacle

9. noBepxHs a) situation b) surface c) steering
10. npuiimau a) transducer b) loop c) distance

I1. Translate into Ukrainian:

to grow, intensity, cybernetic, traffic system, vehicle, effort, to keep,
obstacle, colliding, to adjust, to prevent, course, to present, road situation, to
pass, to pick up, to transmit, to apply, visibility, measurement, leading car, loop,
speed, steering wheel, dashboard.

II1. Find out synonyms:

A B
1. to prevent a) to transfer
2. to adjust b) settlement
3. exchange ¢) machinery
4. capacity d) concept
5. calculation ¢) interchange
6. obstacle f) volume
7. 1dea g) computation
8. to transmit h) to avoid
9. solution 1) barrier
10.mechanism j) to regulate

IV. Match words from columns A and B to make word combinations:

A B
1. to carry out a) steering wheel
2. cybernetic b) visibility
3. information c¢) characteristics
4. automobile d) accident
5. to adjust e) control
6. road f) exchange
7. dashboard g) driving
8. poor h) problems
9. brake 1) calculations
10.magnetic J) screen

V. Find an appropriate word for each blank space:
1. Tin automatic air traffic system takes over a large proportion of the
work involved in the information exchange between ... and ....
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2. The robot driver system is called upon to do two things: to keep...on
the road and to prevent it from ... with the cars ahead.

3. According to international statistics road accidents kill ....

4. The problem was solved experimentally by tracing ... on the road and
fitting a car with ... which keeps an eye on the line and adjusts ... in case of the
deviation from the present course.

VI. Decide whether the statements are true or not. Correct the wrong
ones:

1. A large number of cybernetic problems are being tackled in air
transport.

2. The world's biggest airports handle up more than 2,000 planes a day.

3. Fundamental research is being carried out into the automation of
automobile driving.

4. According to international statistics road accidents kill 500,000 people
a day.

5. The microwave radar presents the road situation on a dashboard screen.

6. The automatic air traffic system takes over a large proportion of the
work involved in the information exchange between dispatcher and pilot.

7. In critical situations the engine 1s stopped and the brakes are applied
automatically.

VII. Answer the following questions:

1. Why has air traffic called for the automation of its control?
2. What is the robot driver system called upon?

3. How was the first problem solved?

4. Why is the second problem more complex?

5. How many people are killed in road accidents a year?

6. What two ideas are considered in this respect?

7. Where are cybernetic problems being tackled?

VIII. Translate into English:

1. HaiiG1nb111 ieToBUIIa CBITY npuitMaroTh 01u3bko 1000 miTakiB MO HS.
2. 3rigHo 3 MIKHApOJHOIO CTATHUCTHKOIO aBTOKaTacTpodu 3a0HpParOTh KUTTS
250,000 mromeit mopoky. 3. ABIaTpaHCHOPT CTOCYETHCS BEIHUKOI KIJIBKOCTI
kibepHeTUUHUX TIpobseM. 4. Y KpPUTHUYHIN CUTyaIlli IBUTYH 3yHHUHSETHCA Ta
aBTOMATUYHO 3aCTOCOBYIOThHCS rajbMa.

IX. Speak about:
- automatic air traffic system;
- automatic road traffic system

X. Make up a plan of the text; prepare a short report on the text.
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UNIT 6. TRANSPORTATION. LOOKING TO THE FUTURE

6.1. Looking to the future

PRE -TEXT EXERCISES

I. Mind the pronunciation of the following words:

expert eKCIIepT, (axiBelb
adventurous BITUaN Ty IIIHUMA
sidewalk TpOTyap
lightweight JIETKUI

tyre IIMHAa, IOKpHIIIKA
delivery JIOCTABJICHHS
advance nporpec

friction TEPTS

cushion NOyLIKA
accommodate nocTrayaru

I1. Word combinations to remember:

to reach any point — qocsiratu OyAb-sKOTO MiCIIs

to be adventurous and exciting — OyTy BiIUaiIyIIIHUM Ta XBUIIOIOYUM
remote-controlled electronic cars — enexKTpoHHI aBTOMOOLT 3

JTUCTAHI[IMHUM KePYyBaHHSIM

moving sidewalks — TpoTyapu, 1110 pyXarThcs

to find a practical place — 3HaxX0aUTH paKTUYHE 3aCTOCYBAHHS

to solve the complicated problem — BupimyBaTu ckinagHy npooiemy
rubber tyres — TyMOBI1 IIMHA

to be available — OyTu gocTynHuM

to eliminate the friction of steel wheels — ycyBatu TepTs cTaabHUX KOJEC
drawing board — kpecnspcpka o1IKa

to overcome the friction barrier — mogonaTu nepemKoay TepTs
air-cushion vehicles — TpancnopTHi 3aco01 Ha MOBITPSIHUX MOTYIIKAX

II1. Translate the following international words:
expert, rocket, problem, tunnel, electronic, express, airport, centre,

system, service, minute, computer, limit, transport, vibration.
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LOOKING TO THE FUTURE

Experts estimate that by the year 2030 we will go by rocket from New
York to Tokyo in 30 minutes. We will be able to reach any point on the globe
from any other point through tunnels deep in the earth.

The prospect is adventurous and exciting. But most people are more
interested in better ways to travel during their own lifetime. It's possible, that
within the next two or three decades we will be riding in remote-controlled
electronic cars.

We will travel over plastic-footed climate-controlled highways.

Trips through metropolitan areas will be made on quiet, swift buses
travelling on separate express lines of city streets. Helicopters may carry whole
buses loaded with passengers from point to point above city traffic.

But don't look for such developments in the next 30 years. Moving
sidewalks still aren't moving, arid won't for some time. What about monorails?
Half a dozen are already operating.

Tokyo has one that runs from the suburbs of the city to the airport but
few people use it. But for some reason, no monorail system has ever been able
to find a practical place.

Flying crane helicopters soon may help solve the complicated problem of
getting passengers from the centre to airport and back again. A new mass transit
system particularly well suited to medium sized towns is being tested now.
Lightweight automated vehicles operate singly or in trains on a lightweight
aerial roadway. The cars look like buses and run on four pairs of rubber tyres.
Service is round-the-clock with trains running every two minutes. The system is
controlled by a central computer. Electric cars are under development in a
number of countries. Experts say they expect electric cars to be available within
the next ten years although they believe that their use will be limited almost
total to city centre delivery vans and suburban shopping cars.

Most of the advances in air transportation expected before 2030 will
materialize within the next few years. The largest airplane ever designed for
commercial service, capable of seating nearly 500 passengers, is already being
built. Supersonic transport prototypes now in development will be forerunners
of a new generation of 1,800 miles per hour passenger jet-liners.

The "ideal" short-haul air transport probably will be a vertical or short
take-off and landing aircraft that will fly 30 to 45 passengers right into the
heart of a city or its suburbs on trips up to 260 miles.

If engineers could eliminate the friction of steel wheels against steel rails,
they would have overcome the main reason why planes go faster than trains.
They would also have solved the vibration problems caused by rails and
wheels that presently limit a train's speed to about 200 miles per hour.
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Such trains are already on the drawing boards and in experimental
models, many with neither wheels nor rails.

The engineers are trying to overcome the friction barrier with rollers and
by shaping the train like an airfoil. They are working on suspending trains on a
cushion of air and flying them over the ground at high speeds.

Air-cushion vehicles are getting a lot of press these days, and there's little
doubt that they will be in your future. The scheme "Tube flight" is one in which
air-cushion-supported vehicles will travel inside tubes at air transport speeds.

Speeds of 300 to 400 miles per hour would be practical in the "Tube flight"
system on runs of 25 to 250 miles. Intervals between trains would be as low as
one minute, and the system could accommodate 10,000 to 12,000 passengers per
hour per tube. Higher speeds, with longer intervals and lower capacities, would
be practical over longer runs. The system would be fully automated.

Some ideas of rapid transportation are on the drawing boards, some may
newer get off. Some are already under way and operational, while others will
see the light of day. Others may not take shape until nearly the year 2030. But
changes are taking place, and there are more to come.

TEXT — BASED ASSIGNMENTS

I. Give English equivalents:

NiJpaxoByBaTH, XBWIIOIOUMMA, MOAOPOXK, TEPMIHOBHUM, MICBKHUUA PYX,
pPO3BUTOK, TpOTyap, MEpPEeaMICTA, BHUPINIyBaTH, CKJIaJgHa mpolJema,
HAJ3BYKOBHH, TEPTS, TIOA0JIATH, TIOTYKHICTh, IPOTPEC, 371TATH, BMIIIIATH.

II. Form nouns of the verbs by means of the following suffixes: - tion,
- ion, - ment, - ation:

to decide, to develop, to accommodate, to estimate, to move, to operate,
to expect, to eliminate, to automate, to transport.

II1. Match Ukrainian and English equivalents:

A B
1. to reach a) MPOTOTHI
2. adventurous b) mocsoxHUN
3. lifetime C) OYiKyBaTH
4. reason d) migBinryBatu
5. helicopter €) MpuYrHa
6. to overcome f) nocsiratu
7. available g) MoAoJIaTh
8. to expect h) BimuakxyHum
9. prototype 1) TeITKONTEp
10.to suspend ) KUTTS
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IV. Match words from columns A and B to make word combinations:

A B
1. electronic a) board
2. express b) trains
3. moving c) jet-liner
4. to solve d) friction barrier
5. rubber e) line
6. air f) cars
7. passenger g) problem
8. drawing h) tyres
9. to overcome 1) sidewalks
10.suspending J) transportation

V. Complete the following sentences:

1. Most people are more interested in....2. Trips through metropolitan
areas will be made on.... 3. A new mass transit system particularly well suited
to.... 4. Experts say.... 5. The ideal short-haul air transport will be.... 6. The
engineers are trying to overcome the friction barrier by.... 7. They are working
on suspending trains on.... 8. The scheme "Tube flight" is one in .... 9. Intervals
between trains would be .... 10. Some ideas of rapid transportation on....

VI. Decide whether the statements are true or not. Correct the wrong
ones:

1. Experts estimate that by the year 2040 we will go by rocket from New
York to Tokyo in 20 minutes.

2. We will travel over plastic-footed climate-controlled highways.

3. Flying crane helicopters soon may help solve the complicated problem
of getting passengers from the centre to airport and back again.

4. A new mass transit system particularly well suited to large cities is
being tested now.

5. Most of the advances in air transportation expected before 2020 will
materialize within the next few years.

6 The engineers are trying to overcome the friction barrier with rollers
and by shaping the train like an airfoil. .

7. Speeds of 400 to 500 miles per hour would be practical in the "Tube
flight" system on runs of 25 to 250 miles.

VII. Answer the following questions:

1. What do experts estimate?

2. What will trips through metropolitan areas be made on?
3. What can you say about monorails?

4. What are under development in a number of countries?
5. What are on the drawing board now?

6. How can engineers overcome friction barrier?
7. What is the scheme "Tube flight"?
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VIII. Translate into English:

1. V MalitOyTHEOMY MU 3MOXKEMO JOCSATaTH OyAb-IKOTO MICId Ha 3eMHIN
Kyal TyHemsmu. 2. IligBicHI 3ami3HMIl  Bxe mpaioroTb. 3. Cucrema
KOHTPOJIFOETHCS IICHTPAJIBHUM KOMII 1oTepoM. 4. I[HKeHepH HaMararoThCs
MO/I0JIATH TEPTS 3a JTOTIOMOTOO0 POJIHKIB.

IX. Write down the main idea of the text and key words.

X. Make up a plan of the text; prepare a short report on the text.
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